



Research article

The fourth power mean of the three-term exponential sums

Xiaoge Liu^{1,*} and Guohui Chen²

¹ Research Center for Number Theory and its Applications, School of Mathematics, Northwest University, Xi'an, China

² College of Mathematics and Statistics, Hainan Normal University, Hainan, China

* **Correspondence:** Email: xiaogeliu@stumail.nwu.edu.cn.

Abstract: By employing trigonometric sums and solving congruence equations, this paper explores the power mean of a specific class of high-order three-term exponential sums, and derives intriguing identities in the process. The findings presented in this paper offer insights into establishing the lower bound for these sums.

Keywords: three-term exponential sums; elementary methods; fourth power mean; identity

1. Introduction

Let p be an odd prime. Then rational exponential sum modulo p is defined by

$$S(f(x); p) = \sum_{x=0}^{p-1} e\left(\frac{f(x)}{p}\right), \quad (1.1)$$

where $f(x) = a_1x^{k_1} + a_2x^{k_2} + \cdots + a_rx^{k_r}$, where the a_i are integers satisfy $(a_i, p) = 1$, $k_i \not\equiv k_j \pmod{p-1}$, $i, j \in 1, 2, \dots, r$ and $e(x) = e^{2\pi ix}$. This type of sum plays a crucial role in the Waring type problem [1–3]. Obviously, due to $|e(x)| = 1$ for every real number x . Thus, the trivial bound of $S(f(x); p)$ is $|S(f(x); p)| \leq p$. Over time, many outstanding mathematicians such as Weyl [4], Hua [5], and Weil [6] strove to obtain a stronger upper bound estimate with order less than p for this sum. Perhaps the most beautiful result about (1.1) is Weil's [6] result, i.e.,

$$S(f(x); p) \leq (t-1) \cdot p^{\frac{1}{2}},$$

where p is a prime, $\deg f(x) = t$ and $f(x)$ is not a constant polynomial.

The exponential sum $S(f(x); p)$ is classified as a k -term exponential sum when the polynomial $f(x)$ contains exactly k monomial terms. Furthermore, when the exponential function in Eq (1.1) is

weighted by a Dirichlet character, the resulting sum is referred to as a mixed rational exponential sum, which is

$$S(f(x), \chi; p) = \sum_{x=1}^{p-1} \chi(x) e\left(\frac{f(x)}{p}\right), \quad (1.2)$$

where χ is a Dirichlet character modulo p . Weil [6] demonstrated that

$$|S(f(x), \chi; p)| \leq d(f) \cdot p^{\frac{1}{2}},$$

where p is a prime and (assuming that $k_1 < k_2 < \cdots < k_r$)

$$d(f) = \begin{cases} k_r & \text{if all } k_i \text{ are positive;} \\ |k_1| & \text{if all } k_i \text{ are negative;} \\ k_r - k_1 & \text{otherwise.} \end{cases}$$

The above is nontrivial only if $d(f) < \sqrt{p}$. In addition, some insights into Eq (1.2) are provided in [7–9].

In this paper, we focus on two types of three-term exponential sums which are $E(m, n, r, u, v, w; p) = \sum_{x=0}^{p-1} e\left(\frac{mx^u + nx^v + rx^w}{p}\right)$ and $E(m, n, r, u, v, w, \chi; p) = \sum_{x=1}^{p-1} \chi(x) e\left(\frac{mx^u + nx^v + rx^w}{p}\right)$. Moreover, we will study the bound of $E(m, n, r, u, v, w; p)$ and $E(m, n, r, u, v, w, \chi; p)$ from the perspective of power mean.

Let $p \geq 3$ be an odd prime with primitive root g . For arbitrary integers $a, m_0 \in \mathbb{Z}$, the Dirichlet character χ modulo p is defined as:

$$\chi(a) = \begin{cases} 0 & \text{if } (a, p) > 1; \\ e\left(\frac{m_0 \text{ind}_g(a)}{p-1}\right) & \text{if } (a, p) = 1, \end{cases}$$

where $\text{ind}_g(a)$ is the index satisfying $g^{\text{ind}_g(a)} \equiv a \pmod{p}$. When $w = 1$, Liu and Li [10] obtained that for any integers m, n with $(mn, p) = 1$,

$$\sum_{r=0}^{p-1} \sum_{\chi \pmod{p}} |E(m, n, r, u, v, 1, \chi; p)|^4 = 2p^4 - 7p^3 + 8p^2 - 3p.$$

Besides, if r is an integer with $(r, p) = 1$. They [10] got

$$\sum_{m=0}^{p-1} \sum_{n=0}^{p-1} |E(m, n, r, 4, 2, 1, \chi; p)|^4 = \begin{cases} 2p^4 - 11p^3 + 16p^2 & \text{if } \chi = \chi_0; \\ 2p^4 - 7p^3 + 12p^2 & \text{if } \chi \neq \chi_0 \text{ and } 2 \mid m_0; \\ 2p^4 - 3p^3 & \text{if } \chi \neq \chi_0 \text{ and } 2 \nmid m_0, \end{cases}$$

and

$$\sum_{m=0}^{p-1} \sum_{n=0}^{p-1} |E(m, n, r, 6, 2, 1, \chi; p)|^4$$

$$= \begin{cases} 2p^4 - 15p^3 + 36p^2 & \text{if } \chi = \chi_0 \text{ and } p \equiv 1 \pmod{4}; \\ 2p^4 - 11p^3 + 16p^2 & \text{if } \chi = \chi_0 \text{ and } p \equiv 3 \pmod{4}; \\ 2p^4 - 7p^3 + 28p^2 & \text{if } \chi \neq \chi_0, p \equiv 1 \pmod{4}, \text{ and } 4 \mid m_0; \\ 2p^4 - 7p^3 + 12p^2 & \text{if } \chi \neq \chi_0, p \equiv 1 \pmod{4}, 2 \mid m_0, \text{ and } 4 \nmid m_0; \\ 2p^4 - 7p^3 + 12p^2 & \text{if } \chi \neq \chi_0, p \equiv 3 \pmod{4} \text{ and } 2 \mid m_0; \\ 2p^4 - 3p^3 & \text{if } \chi \neq \chi_0 \text{ and } 2 \nmid m_0. \end{cases}$$

When $w = 2$, the power mean of this type of sum becomes very complex, and it's difficult to obtain some identities about it. Zhang [11] primary considered the case of $w = 2$. Let p be an odd prime. Then he got

$$\sum_{m=0}^{p-1} \sum_{n=0}^{p-1} |E(m, n, 1, 6, 3, 2; p)|^4 = \begin{cases} 2p^4 - 5p^3 + 34p^2 + p^{\frac{5}{2}} \cdot \left(8p - 36 - 2\left(\frac{2}{p}\right)\right) & \text{if } p \equiv 1 \pmod{12} \text{ and } 3 \nmid \alpha; \\ 2p^4 - 5p^3 + 34p^2 - p^{\frac{5}{2}} \cdot \left(8p - 28 - 2\left(\frac{2}{p}\right)\right) & \text{if } p \equiv 1 \pmod{12} \text{ and } 3 \mid \alpha; \\ 2p^4 - p^3 & \text{if } p \equiv 5 \pmod{12}; \\ 2p^4 - 13p^3 + 34p^2 & \text{if } p \equiv 7 \pmod{12}; \\ 2p^4 - p^3 & \text{if } p \equiv 11 \pmod{12}, \end{cases}$$

where $\alpha = \sum_{x=1}^{\frac{p-1}{2}} \left(\frac{x + \bar{x}}{p}\right)$ and $\left(\frac{*}{p}\right)$ denotes the Legendre's symbol modulo p .

In addition, relevant articles on rational exponential sum can be found in [12–17]. In fact, when the degree of $f(x)$ increases and $w = 2$, these problems become more complicated. Can we still obtain some identities about it? Thus, we consider three-term exponential sums $E(m, n, r, 8, 4, 2; p)$ and $E(m, n, r, 8, 4, 2, \chi; p)$ in what follows. The principal challenge in analyzing mean value problems fundamentally resides in solving systems of congruence equations. Our investigation focuses on exponents of specific orders (particularly 8–th, 4–th, and 2–nd) because lower-order congruence equations (4–th and 2–nd) provide a systematic mechanism for resolving higher-order (8–th) congruence equations through reduction techniques.

Theorem 1.1. Let p be an odd prime. Then

$$\sum_{m=0}^{p-1} \sum_{n=0}^{p-1} |E(m, n, 1, 8, 4, 2; p)|^4 = \begin{cases} 8p^4 + 16p^{\frac{7}{2}} - 40p^3 - 64p^{\frac{5}{2}} + 81p^2 & \text{if } p \equiv 1 \pmod{8}; \\ 8p^4 - 16p^{\frac{7}{2}} - 40p^3 + 48p^{\frac{5}{2}} + 81p^2 & \text{if } p \equiv 5 \pmod{8}; \\ 8p^4 - 16p^3 + 9p^2 & \text{if } p \equiv 3 \pmod{4}. \end{cases}$$

Theorem 1.2. Let p be an odd prime and m, n be arbitrary integers. Then

$$\sum_{r=0}^{p-1} \sum_{\chi \pmod{p}} |E(m, n, r, 8, 4, 2, \chi; p)|^4 = 4p(p-1)^2(p-2).$$

Theorem 1.3. Let p be an odd prime and m, r be arbitrary integers with $(r, p) = 1$. Then

$$\sum_{n=0}^{p-1} \sum_{\chi \bmod p} |E(m, n, r, 8, 4, 2, \chi; p)|^4 = \begin{cases} p(p-1)(4p^2 - 16p - 12\left(\frac{r}{p}\right) \cdot p^{\frac{1}{2}} + 24) & \text{if } p \equiv 1 \pmod{8}; \\ p(p-1)(4p^2 - 16p + 4\left(\frac{r}{p}\right) \cdot p^{\frac{1}{2}} + 24) & \text{if } p \equiv 5 \pmod{8}; \\ 4p(p-1)^2(p-2) & \text{if } p \equiv 3 \pmod{4}. \end{cases}$$

Corollary 1.1. From our theorems, we can obtain that if p is an odd prime, then there exist Dirichlet characters χ modulo p and $m_0, n_0, m_1, n_1, r_1 \in 0, 1, \dots, p-1$ satisfying

$$E(m_0, n_0, 1, 8, 4, 2; p) \gg p^{\frac{1}{2}}, \\ E(m_1, n_1, r_1, 8, 4, 2, \chi; p) \gg p^{\frac{1}{2}},$$

where $f(x) \gg g(x)$ denotes that there exists constant c satisfies $|f(x)| \geq c \cdot g(x)$.

2. Formulas that satisfy the congruence equation

In this section, we will use some concepts from elementary number theory and analytic number theory, specifically focusing on the properties of trigonometric sums and residue systems modulo p . For a more comprehensive understanding, please refer to the books [18–20].

Lemma 2.1. Let p be an odd prime. Then

$$\sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod{p} \\ a^4 \cdot b^4 \equiv c^4 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 = \begin{cases} 8(4p-11) & \text{if } p \equiv 1 \pmod{4}; \\ 8p-12 & \text{if } p \equiv 3 \pmod{4}, \end{cases}$$

and

$$\sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod{p} \\ a^4 \cdot b^4 \equiv c^4 \pmod{p} \\ a^2+b^2 \equiv c^2+1 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 = 8p-12.$$

Proof. Firstly, let's prove the first identities.

$$\begin{aligned} \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod{p} \\ a^4 \cdot b^4 \equiv c^4 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 &= \sum_{\substack{a=0 \\ a^4+b^4 \equiv a^4 \cdot b^4+1 \pmod{p} \\ a^4 \cdot b^4 \equiv c^4 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 = \sum_{\substack{a=0 \\ (a^4-1)(b^4-1) \equiv 0 \pmod{p} \\ a^4 \cdot b^4 \equiv c^4 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 \\ &= \sum_{\substack{a=0 \\ a^4 \equiv b^4 \equiv c^4 \equiv 1 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 + 2 \sum_{\substack{a=0 \\ a^4 \equiv 1 \pmod{p}, b^4 \not\equiv 1 \pmod{p} \\ b^4 \equiv c^4 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1. \end{aligned}$$

If $p \equiv 1 \pmod{4}$, we know that if a runs through a complete residue system of modulo p , then the congruence equation $a^4 \equiv 1 \pmod{p}$ has four solutions, which are ± 1 and $\pm w$ satisfy $(\pm 1)^2 \equiv 1 \pmod{p}$ and $(\pm w)^2 \equiv -1 \pmod{p}$. And if $p \equiv 3 \pmod{4}$, then congruence equation $a^4 \equiv 1 \pmod{p}$ has two solutions, which are ± 1 . Thus, if $p \equiv 1 \pmod{4}$, then

$$\begin{aligned} \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod{p} \\ a^4 \cdot b^4 \equiv c^4 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 &= 4 \cdot 4 \cdot 4 + 2 \cdot 4 \cdot \sum_{\substack{b=0 \\ b^4 \not\equiv 1 \pmod{p} \\ b^4 \equiv c^4 \pmod{p}}}^{p-1} \sum_{c=0}^{p-1} 1 \\ &= 64 + 8 \left(\sum_{\substack{b=1 \\ b^4 \not\equiv 1 \pmod{p} \\ b^4 \equiv c^4 \pmod{p}}}^{p-1} \sum_{c=0}^{p-1} 1 + 1 \right) = 64 + 8 \left(\sum_{\substack{b=1 \\ b^4 \not\equiv 1 \pmod{p}}}^{p-1} 1 \cdot \sum_{\substack{c=0 \\ c^4 \equiv 1 \pmod{p}}}^{p-1} 1 + 1 \right) \\ &= 8(4p - 11). \end{aligned}$$

If $p \equiv 3 \pmod{4}$, then

$$\begin{aligned} \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod{p} \\ a^4 \cdot b^4 \equiv c^4 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 &= 2 \cdot 2 \cdot 2 + 2 \cdot 2 \cdot \sum_{\substack{b=0 \\ b^4 \not\equiv 1 \pmod{p} \\ b^4 \equiv c^4 \pmod{p}}}^{p-1} \sum_{c=0}^{p-1} 1 \\ &= 8 + 4 \left(\sum_{\substack{b=1 \\ b^4 \not\equiv 1 \pmod{p} \\ b^4 \equiv c^4 \pmod{p}}}^{p-1} \sum_{c=0}^{p-1} 1 + 1 \right) = 8 + 4 \left(\sum_{\substack{b=1 \\ b^4 \not\equiv 1 \pmod{p}}}^{p-1} 1 \cdot \sum_{\substack{c=0 \\ c^4 \equiv 1 \pmod{p}}}^{p-1} 1 + 1 \right) \\ &= 8p - 12. \end{aligned}$$

Having proved the first identity, we now prove the second.

$$\begin{aligned} \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod{p} \\ a^4 \cdot b^4 \equiv c^4 \pmod{p} \\ a^2+b^2 \equiv c^2+1 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 &= \sum_{\substack{a=0 \\ a^2 \cdot b^2 \equiv c^2 \pmod{p} \\ a^4 \cdot b^4 \equiv c^4 \pmod{p} \\ a^2+b^2 \equiv c^2+1 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 = \sum_{\substack{a=0 \\ a^2 \cdot b^2 \equiv c^2 \pmod{p} \\ a^2+b^2 \equiv c^2+1 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 \\ &= \sum_{\substack{a=0 \\ (a^2-1) \cdot (b^2-1) \equiv 0 \pmod{p} \\ a^2+b^2 \equiv c^2+1 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 = \sum_{\substack{a=0 \\ a^2 \equiv b^2 \equiv c^2 \equiv 1 \pmod{p}}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 + 4 \sum_{\substack{b=0 \\ b^2 \not\equiv 1 \pmod{p} \\ b^2 \equiv c^2 \pmod{p}}}^{p-1} \sum_{c=0}^{p-1} 1 \\ &= 8 + 4 \cdot (2p - 5) = 8p - 12. \end{aligned}$$

The proof of lemma 2.1 is completed.

Lemma 2.2. Let p be an odd prime. Then

$$\sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4 \pmod p \\ ab \equiv 0 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{a^2 + b^2 - c^2}{p}\right) = \begin{cases} 4p + 4\left(\frac{2}{p}\right) \sqrt{p} - 7 & \text{if } p \equiv 1 \pmod 4; \\ 4p - 3 & \text{if } p \equiv 3 \pmod 4. \end{cases}$$

Proof. By utilizing the properties of the reduced residue system of modulo p , we can obtain

$$\begin{aligned} \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4 \pmod p \\ ab \equiv 0 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{a^2 + b^2 - c^2}{p}\right) &= 1 + 2 \sum_{\substack{b=1 \\ b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{b^2 - c^2}{p}\right) \\ &= 1 + 2 \sum_{\substack{b=1 \\ c^4 \equiv 1 \pmod p}}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{b^2(1 - c^2)}{p}\right). \end{aligned}$$

If $p \equiv 1 \pmod 4$, then

$$\begin{aligned} \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4 \pmod p \\ ab \equiv 0 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{a^2 + b^2 - c^2}{p}\right) &= 1 + 2 \sum_{\substack{b=0 \\ c^4 \equiv 1 \pmod p}}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{b^2(1 - c^2)}{p}\right) - 2 \sum_{\substack{c=0 \\ c^4 \equiv 1 \pmod p}}^{p-1} 1 \\ &= 1 + 2 \sum_{b=0}^{p-1} \left(2e\left(\frac{0 \cdot b^2}{p}\right) + 2e\left(\frac{2 \cdot b^2}{p}\right) \right) - 8 = 4p + 4\left(\frac{2}{p}\right) \tau(\chi_2) - 7, \end{aligned}$$

where $\chi_2(a) = \left(\frac{a}{p}\right)$ and $\tau(\chi_2) = \sum_{a=1}^{p-1} \chi_2(a) e\left(\frac{a}{p}\right)$. We know that if $p \equiv 1 \pmod 4$, then $\tau(\chi_2) = \sqrt{p}$. Thus,

$$\sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4 \pmod p \\ ab \equiv 0 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{a^2 + b^2 - c^2}{p}\right) = 4p + 4\left(\frac{2}{p}\right) \sqrt{p} - 7.$$

If $p \equiv 3 \pmod 4$, then

$$\begin{aligned} \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4 \pmod p \\ ab \equiv 0 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{a^2 + b^2 - c^2}{p}\right) &= 1 + 2 \sum_{\substack{b=0 \\ c^4 \equiv 1 \pmod p}}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{b^2(1 - c^2)}{p}\right) - 2 \sum_{\substack{c=0 \\ c^4 \equiv 1 \pmod p}}^{p-1} 1 \\ &= 1 + 2 \sum_{b=0}^{p-1} 2e\left(\frac{0 \cdot b^2}{p}\right) - 4 = 4p - 3. \end{aligned}$$

The proof of lemma 2.2 is completed.

Lemma 2.3. Let p be an odd prime. Then

$$\sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod p \\ a^4 \cdot b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \left(\frac{a^2 + b^2 - c^2 - 1}{p} \right) = \begin{cases} (16p - 60) \cdot \left(\frac{2}{p} \right) - 8 & \text{if } p \equiv 1 \pmod 4; \\ 0 & \text{if } p \equiv 3 \pmod 4. \end{cases}$$

Proof.

$$\begin{aligned} & \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod p \\ a^4 \cdot b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \left(\frac{a^2 + b^2 - c^2 - 1}{p} \right) = \sum_{\substack{a=0 \\ (a^4-1)(b^4-1) \equiv 0 \pmod p \\ a^4 \cdot b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \left(\frac{a^2 + b^2 - c^2 - 1}{p} \right) \\ &= \sum_{\substack{a=0 \\ a^4 \equiv b^4 \equiv c^4 \equiv 1 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \left(\frac{a^2 + b^2 - c^2 - 1}{p} \right) + 2 \sum_{\substack{a=0 \\ a^4 \equiv 1 \pmod p, b^4 \not\equiv 1 \pmod p \\ b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \left(\frac{a^2 + b^2 - c^2 - 1}{p} \right). \end{aligned} \quad (2.1)$$

If $p \equiv 1 \pmod 4$, then

$$\begin{aligned} & \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4 \equiv 1 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \left(\frac{a^2 + b^2 - c^2 - 1}{p} \right) \\ &= 2 \sum_{\substack{a=0 \\ a^4 \equiv b^4 \equiv 1 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \left(\frac{a^2 + b^2 - 1 - 1}{p} \right) + 2 \sum_{\substack{a=0 \\ a^4 \equiv b^4 \equiv 1 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \left(\frac{a^2 + b^2 + 1 - 1}{p} \right) \\ &= 8 \left(\frac{1+1-1-1}{p} \right) + 8 \left(\frac{1-1-1-1}{p} \right) + 8 \left(\frac{-1+1-1-1}{p} \right) \\ &+ 8 \left(\frac{-1-1-1-1}{p} \right) + 8 \left(\frac{1+1+1-1}{p} \right) + 8 \left(\frac{1-1+1-1}{p} \right) \\ &+ 8 \left(\frac{-1+1+1-1}{p} \right) + 8 \left(\frac{-1-1+1-1}{p} \right) \\ &= 32 \left(\frac{2}{p} \right) + 8. \end{aligned} \quad (2.2)$$

$$\begin{aligned} & \sum_{\substack{a=0 \\ a^4 \equiv 1 \pmod p, b^4 \not\equiv 1 \pmod p \\ b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \left(\frac{a^2 + b^2 - c^2 - 1}{p} \right) \\ &= 2 \sum_{\substack{b=0 \\ b^4 \not\equiv 1 \pmod p \\ b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{c=0}^{p-1} \left(\frac{b^2 - c^2}{p} \right) + 2 \sum_{\substack{b=0 \\ b^4 \not\equiv 1 \pmod p \\ b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{c=0}^{p-1} \left(\frac{b^2 - c^2 - 2}{p} \right) \end{aligned}$$

$$\begin{aligned}
&= 2 \sum_{\substack{b=1 \\ b^4 \not\equiv 1 \pmod p \\ b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{c=0}^{p-1} \left(\frac{b^2 - c^2}{p} \right) + 2 \sum_{\substack{b=0 \\ b^4 \not\equiv 1 \pmod p \\ (b^2+c^2)(b^2-c^2) \equiv 0 \pmod p}}^{p-1} \sum_{c=0}^{p-1} \left(\frac{b^2 - c^2 - 2}{p} \right) \\
&= 2 \sum_{\substack{b=1 \\ b^4 \not\equiv 1 \pmod p}}^{p-1} \left(\frac{b^2}{p} \right) \sum_{\substack{c=0 \\ c^4 \equiv 1 \pmod p}}^{p-1} \left(\frac{1 - c^2}{p} \right) + 2 \sum_{\substack{b=0 \\ b^4 \not\equiv 1 \pmod p \\ b^2+c^2 \equiv b^2-c^2 \equiv 0 \pmod p}}^{p-1} \sum_{c=0}^{p-1} \left(\frac{0 - 2}{p} \right) \\
&\quad + 2 \sum_{\substack{b=0 \\ b^4 \not\equiv 1 \pmod p \\ b^2-c^2 \equiv 0 \pmod p, b^2+c^2 \not\equiv 0 \pmod p}}^{p-1} \sum_{c=0}^{p-1} \left(\frac{0 - 2}{p} \right) + 2 \sum_{\substack{b=0 \\ b^4 \not\equiv 1 \pmod p \\ b^2-c^2 \not\equiv 0 \pmod p, b^2+c^2 \equiv 0 \pmod p}}^{p-1} \sum_{c=0}^{p-1} \left(\frac{b^2 - c^2 - 2}{p} \right) \\
&= 2(p-5) \cdot 2 \left(\frac{2}{p} \right) + 2 \left(\frac{-2}{p} \right) + 2 \cdot 2(p-5) \left(\frac{-2}{p} \right) + 2 \cdot 2 \sum_{\substack{b=0 \\ b \neq 0, \pm 1, \pm w}}^{p-1} \left(\frac{2b^2 - 2}{p} \right) \\
&= (8p - 38) \left(\frac{2}{p} \right) + 4 \left(\frac{2}{p} \right) \left(\sum_{b=0}^{p-1} \left(\frac{b^2 - 1}{p} \right) - \left(\frac{-1}{p} \right) - 2 \left(\frac{-2}{p} \right) \right) \\
&= (8p - 46) \cdot \left(\frac{2}{p} \right) - 8, \tag{2.3}
\end{aligned}$$

where we use the identity

$$\sum_{a=0}^{p-1} \left(\frac{a^2 + n}{p} \right) = \begin{cases} p-1 & \text{if } (p, n) = p; \\ -1 & \text{if } (p, n) = 1. \end{cases}$$

So, if $p \equiv 1 \pmod 4$, combining (2.1)–(2.3) we get

$$\begin{aligned}
&\sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod p \\ a^4 \cdot b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \left(\frac{a^2 + b^2 - c^2 - 1}{p} \right) \\
&= 32 \left(\frac{2}{p} \right) + 8 + 2 \left((8p - 46) \cdot \left(\frac{2}{p} \right) - 8 \right) = (16p - 60) \left(\frac{2}{p} \right) - 8.
\end{aligned}$$

If $p \equiv 3 \pmod 4$, then congruence equation $a^4 \equiv 1 \pmod p$ has two solutions, which are ± 1 . Besides, we have $(\pm 1)^2 \equiv 1 \pmod p$. Thus,

$$\sum_{\substack{a=0 \\ a^4 \equiv b^4 \equiv c^4 \equiv 1 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \left(\frac{a^2 + b^2 - c^2 - 1}{p} \right) = 0. \tag{2.4}$$

$$\begin{aligned}
& \sum_{\substack{a=0 \\ a^4 \equiv 1 \pmod p}}^{p-1} \sum_{\substack{b=0 \\ b^4 \not\equiv 1 \pmod p}}^{p-1} \sum_{\substack{c=0 \\ b^4 \equiv c^4 \pmod p}}^{p-1} \left(\frac{a^2 + b^2 - c^2 - 1}{p} \right) \\
&= 2 \sum_{\substack{b=0 \\ b^4 \not\equiv 1 \pmod p}}^{p-1} \sum_{\substack{c=0 \\ b^4 \equiv c^4 \pmod p}}^{p-1} \left(\frac{b^2 - c^2}{p} \right) = 2 \sum_{\substack{b=1 \\ b^4 \not\equiv 1 \pmod p}}^{p-1} \sum_{\substack{c=0 \\ b^4 \equiv c^4 \pmod p}}^{p-1} \left(\frac{b^2 - c^2}{p} \right) \\
&= 2 \sum_{\substack{b=1 \\ b^4 \not\equiv 1 \pmod p}}^{p-1} \left(\frac{b^2}{p} \right) \sum_{\substack{c=0 \\ c^4 \equiv 1 \pmod p}}^{p-1} \left(\frac{1 - c^2}{p} \right) = 0. \tag{2.5}
\end{aligned}$$

So, if $p \equiv 3 \pmod 4$, combining (2.1), (2.4) and (2.5) we get

$$\sum_{\substack{a=0 \\ a^4 + b^4 \equiv c^4 + 1 \pmod p}}^{p-1} \sum_{\substack{b=0 \\ a^4 \cdot b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{c=0}^{p-1} \left(\frac{a^2 + b^2 - c^2 - 1}{p} \right) = 0.$$

The proof of lemma 2.3 is completed.

3. Proofs of the Theorems

In this section, we will complete the proof of our theorems. Firstly, we will prove theorem 1.1. Combining lemma 2.1–2.3, the properties of residue systems modulo p and $|z|^2 = z \cdot \bar{z}$, where z is a complex number, we can get

$$\begin{aligned}
& \frac{1}{p^2} \sum_{m=0}^{p-1} \sum_{n=0}^{p-1} |E(m, n, 1, 8, 4, 2; p)|^4 \\
&= \frac{1}{p^2} \sum_{m=0}^{p-1} \sum_{n=0}^{p-1} \left| \sum_{x=0}^{p-1} e \left(\frac{mx^8 + nx^4 + x^2}{p} \right) \right|^4 \\
&= \frac{1}{p^2} \sum_{m=0}^{p-1} \sum_{n=0}^{p-1} \sum_{a=0}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \sum_{d=0}^{p-1} e \left(\frac{m(a^8 + b^8 - c^8 - d^8) + n(a^4 + b^4 - c^4 - d^4)}{p} \right) \\
&\quad \cdot e \left(\frac{a^2 + b^2 - c^2 - d^2}{p} \right) \\
&= \sum_{\substack{a=0 \\ a^8 + b^8 \equiv c^8 + d^8 \pmod p}}^{p-1} \sum_{\substack{b=0 \\ a^4 + b^4 \equiv c^4 + d^4 \pmod p}}^{p-1} \sum_{c=0}^{p-1} \sum_{d=0}^{p-1} e \left(\frac{a^2 + b^2 - c^2 - d^2}{p} \right)
\end{aligned}$$

$$\begin{aligned}
&= \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+d^4 \pmod p \\ a^4 \cdot b^4 \equiv c^4 \cdot d^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \sum_{d=0}^{p-1} e\left(\frac{a^2+b^2-c^2-d^2}{p}\right) \\
&= \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+d^4 \pmod p \\ a^4 \cdot b^4 \equiv c^4 \cdot d^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{a^2+b^2-c^2-d^2}{p}\right) + \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4 \pmod p \\ a^4 \cdot b^4 \equiv 0 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{a^2+b^2-c^2}{p}\right) \\
&= \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod p \\ a^4 \cdot b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \sum_{d=0}^{p-1} e\left(\frac{d^2(a^2+b^2-c^2-1)}{p}\right) - \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod p \\ a^4 \cdot b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 \\
&\quad + \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4 \pmod p \\ ab \equiv 0 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{a^2+b^2-c^2}{p}\right) \\
&= p \cdot \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod p \\ a^4 \cdot b^4 \equiv c^4 \pmod p \\ a^2+b^2 \equiv c^2+1 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 + \tau(\chi_2) \cdot \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod p \\ a^4 \cdot b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} \left(\frac{a^2+b^2-c^2-1}{p}\right) \\
&\quad - \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4+1 \pmod p \\ a^4 \cdot b^4 \equiv c^4 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} 1 + \sum_{\substack{a=0 \\ a^4+b^4 \equiv c^4 \pmod p \\ ab \equiv 0 \pmod p}}^{p-1} \sum_{b=0}^{p-1} \sum_{c=0}^{p-1} e\left(\frac{a^2+b^2-c^2}{p}\right).
\end{aligned}$$

Combining lemma 2.1–2.3, we can obtain that if $p \equiv 3 \pmod 4$,

$$\begin{aligned}
&\frac{1}{p^2} \sum_{m=0}^{p-1} \sum_{n=0}^{p-1} |E(m, n, 1, 8, 4, 2; p)|^4 \\
&= p \cdot (8p - 12) + \tau(\chi_2) \cdot 0 - (8p - 12) + (4p - 3) \\
&= 8p^2 - 16p + 9.
\end{aligned}$$

Similarly, if $p \equiv 1 \pmod 4$,

$$\begin{aligned}
&\frac{1}{p^2} \sum_{m=0}^{p-1} \sum_{n=0}^{p-1} |E(m, n, 1, 8, 4, 2; p)|^4 \\
&= p(8p - 12) + \sqrt{p} \cdot \left((16p - 60) \left(\frac{2}{p} \right) - 8 \right) - 8(4p - 11) \\
&\quad + 4p + 4 \left(\frac{2}{p} \right) \sqrt{p} - 7 \\
&= 8p^2 + 16 \left(\frac{2}{p} \right) p^{\frac{3}{2}} - 40p - \left(56 \left(\frac{2}{p} \right) + 8 \right) \sqrt{p} + 81.
\end{aligned}$$

Combining $\left(\frac{2}{p}\right) = (-1)^{\frac{p^2-1}{8}}$, we can derive theorem 1.1.

Secondly, we will prove theorem 1.2. Using the same methods, we can obtain

$$\begin{aligned}
 & \frac{1}{p(p-1)} \sum_{r=0}^{p-1} \sum_{\chi \bmod p} |E(m, n, r, 8, 4, 2, \chi; p)|^4 \\
 &= \frac{1}{p(p-1)} \sum_{r=0}^{p-1} \sum_{\chi \bmod p} \left| \sum_{x=1}^{p-1} \chi(x) e\left(\frac{mx^8 + nx^4 + rx^2}{p}\right) \right|^4 \\
 &= \frac{1}{p(p-1)} \sum_{r=0}^{p-1} \sum_{\chi \bmod p} \left| \sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \chi(a) e\left(\frac{mb^8(a^8-1) + nb^4(a^4-1) + rb^2(a^2-1)}{p}\right) \right|^2 \\
 &= \frac{1}{p(p-1)} \sum_{r=0}^{p-1} \sum_{\chi \bmod p} \sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \sum_{c=1}^{p-1} \sum_{d=1}^{p-1} \chi(a\bar{c}) e\left(\frac{m(b^8(a^8-1) - d^8(c^8-1))}{p}\right) \\
 &\quad \cdot e\left(\frac{n(b^4(a^4-1) - d^4(c^4-1)) + r(b^2(a^2-1) - d^2(c^2-1))}{p}\right) \\
 &= \frac{1}{p(p-1)} \sum_{r=0}^{p-1} \sum_{\chi \bmod p} \sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \sum_{c=1}^{p-1} \sum_{d=1}^{p-1} \chi(a\bar{c}) e\left(\frac{md^8(b^8(a^8-1) - (c^8-1))}{p}\right) \\
 &\quad \cdot e\left(\frac{nd^4(b^4(a^4-1) - (c^4-1)) + rd^2(b^2(a^2-1) - (c^2-1))}{p}\right) \\
 &= \sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \sum_{c=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{md^8(b^8(a^8-1) - (c^8-1)) + nd^4(b^4(a^4-1) - (c^4-1))}{p}\right) \\
 &\quad \substack{a \equiv c \bmod p \\ b^2(a^2-1) \equiv c^2-1 \bmod p} \\
 &= \sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{md^8(b^8-1)(a^8-1) + nd^4(b^4-1)(a^4-1)}{p}\right) \\
 &\quad \substack{(b^2-1)(a^2-1) \equiv 0 \bmod p} \\
 &= 2 \cdot 2 \cdot \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} 1 - \sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} 1 \\
 &\quad \substack{a^2 \equiv b^2 \equiv 1 \bmod p} \\
 &= 4(p-1)(p-2).
 \end{aligned}$$

Finally, using similar arguments as in proving theorem 1.2, we will now complete the proof of theorem 1.3.

$$\begin{aligned}
 & \frac{1}{p(p-1)} \sum_{n=0}^{p-1} \sum_{\chi \bmod p} |E(m, n, r, 8, 4, 2, \chi; p)|^4 \\
 &= \frac{1}{p(p-1)} \sum_{n=0}^{p-1} \sum_{\chi \bmod p} \left| \sum_{x=1}^{p-1} \chi(x) e\left(\frac{mx^8 + nx^4 + rx^2}{p}\right) \right|^4
 \end{aligned}$$

$$\begin{aligned}
&= \sum_{\substack{a=1 \\ (b^4-1)(a^4-1) \equiv 0 \pmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{md^8(b^8-1)(a^8-1) + rd^2(b^2-1)(a^2-1)}{p}\right) \\
&= 2 \sum_{\substack{a=1 \\ a^4 \equiv 1 \pmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{rd^2(b^2-1)(a^2-1)}{p}\right) - \sum_{\substack{a=1 \\ a^4 \equiv b^4 \equiv 1 \pmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{rd^2(b^2-1)(a^2-1)}{p}\right).
\end{aligned} \tag{3.1}$$

If $p \equiv 3 \pmod 4$, then

$$\begin{aligned}
&\frac{1}{p(p-1)} \sum_{n=0}^{p-1} \sum_{\chi \pmod p} |E(m, n, r, 8, 4, 2, \chi; p)|^4 \\
&= 2 \cdot 2 \cdot \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} 1 - 4 \sum_{d=1}^{p-1} 1 \\
&= 4(p-1)(p-2).
\end{aligned} \tag{3.2}$$

If $p \equiv 1 \pmod 4$, combining $\tau(\chi_2) = \sqrt{p}$ and $\left(\frac{-1}{p}\right) = 1$. When $(r, p) = 1$, we can get

$$\begin{aligned}
&\sum_{\substack{a=1 \\ a^4 \equiv 1 \pmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{rd^2(b^2-1)(a^2-1)}{p}\right) \\
&= 2 \cdot \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} 1 + 2 \cdot \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{-2rd^2(b^2-1)}{p}\right) \\
&= 2(p-1)^2 + 2 \cdot \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{-2rd(b^2-1)}{p}\right) + 2 \cdot \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} \left(\frac{d}{p}\right) e\left(\frac{-2rd(b^2-1)}{p}\right) \\
&= 2(p-1)^2 + 4(p-1) + 2 \sum_{\substack{b=1 \\ b^2 \not\equiv 1 \pmod p}}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{-2rd(b^2-1)}{p}\right) + 2\tau(\chi_2) \sum_{b=1}^{p-1} \left(\frac{-2r(b^2-1)}{p}\right) \\
&= 2(p-1)^2 + 4(p-1) - 2(p-3) + 2\tau(\chi_2) \left(\frac{-2r}{p}\right) \left(\sum_{b=0}^{p-1} \left(\frac{b^2-1}{p}\right) - \left(\frac{-1}{p}\right)\right) \\
&= 2(p^2 - p + 2) - 4\sqrt{p} \left(\frac{2r}{p}\right).
\end{aligned} \tag{3.3}$$

$$\begin{aligned}
&\sum_{\substack{a=1 \\ a^4 \equiv b^4 \equiv 1 \pmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{rd^2(a^2-1)(b^2-1)}{p}\right) \\
&= \sum_{\substack{a=1 \\ a^2 \equiv b^2 \equiv 1 \pmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{rd^2(a^2-1)(b^2-1)}{p}\right) + 2 \sum_{\substack{a=1 \\ a^2 \equiv 1 \pmod p, b^2 \equiv -1 \pmod p}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{rd^2(a^2-1)(b^2-1)}{p}\right)
\end{aligned}$$

$$\begin{aligned}
& + \sum_{\substack{a=1 \\ a^2 \equiv b^2 \equiv -1 \pmod{p}}}^{p-1} \sum_{b=1}^{p-1} \sum_{d=1}^{p-1} e\left(\frac{rd^2(a^2-1)(b^2-1)}{p}\right) \\
& = 4 \sum_{d=1}^{p-1} 1 + 2 \cdot 4 \cdot \sum_{d=1}^{p-1} 1 + 4 \cdot \sum_{d=1}^{p-1} e\left(\frac{4rd^2}{p}\right) \\
& = 12(p-1) + 4 \left(\sum_{d=1}^{p-1} e\left(\frac{4rd}{p}\right) + \sum_{d=1}^{p-1} \left(\frac{d}{p}\right) e\left(\frac{4rd}{p}\right) \right) \\
& = 12(p-1) + 4 \left(-1 + \left(\frac{4r}{p}\right) \tau(\chi_2) \right) = 12(p-1) + 4 \left(-1 + \left(\frac{r}{p}\right) \sqrt{p} \right) \\
& = 4 \left(3p - 4 + \left(\frac{r}{p}\right) \sqrt{p} \right). \tag{3.4}
\end{aligned}$$

Combining (3.1), (3.3) and (3.4) we can get if $p \equiv 1 \pmod{4}$,

$$\begin{aligned}
& \frac{1}{p(p-1)} \sum_{n=0}^{p-1} \sum_{\chi \pmod{p}} |E(m, n, r, 8, 4, 2, \chi; p)|^4 \\
& = 4p^2 - 16p - 4\sqrt{p} \left(\left(\frac{r}{p}\right) + 2 \left(\frac{2r}{p}\right) \right) + 24. \tag{3.5}
\end{aligned}$$

The proof of theorem 1.3 can be completed by combining (3.2), (3.5), and $\left(\frac{2}{p}\right) = (-1)^{\frac{p^2-1}{8}}$.

Use of AI tools declaration

The authors declare they have not used Artificial Intelligence (AI) tools in the creation of this article.

Acknowledgments

The authors express their gratitude to the referees for their nice comments. This work is supported by Natural Science Basic Research Program of Shaanxi Province (2025JC-YBQN-091), Hainan Provincial Natural Science Foundation of China (123RC473) and Natural Science Foundation of China (12126357).

Conflict of interest

The authors declare there is no conflicts of interest.

References

1. L. K. Hua, On a generalized Waring problem II, *Acta Math. Sinica (Chinese Ser.)*, **2** (1937), 175–191. <https://doi.org/10.12386/A1937sxxb0012>
2. H. Davenport, On Waring's problem for fourth powers, *Ann. Math.*, **40** (1939), 731–747. <https://doi.org/10.2307/1968889>

3. T. D. Wooley, Large improvements in Waring's problem, *Ann. Math.*, **135** (1992), 131–164. <https://doi.org/10.2307/2946566>
4. H. Weyl, Über die Gleichverteilung von Zahlen mod. eins, *Math. Ann.*, **77** (1916), 313–352. <https://doi.org/10.1007/BF01475864>
5. L. K. Hua, On an exponential sum, *J. London Math. Soc.*, **13** (1938), 54–61. <https://doi.org/10.1112/jlms/s1-13.1.54>
6. A. Weil, On some exponential sums, *Proc. Natl. Acad. Sci. U.S.A.*, **34** (1948), 204–207. <https://doi.org/10.1073/pnas.34.5.204>
7. L. J. Mordell, On a sum analogous to Gauss's sum, *Quart. J. Math.*, **3** (1932), 161–167. <https://doi.org/10.1093/qmath/os-3.1.161>
8. J. Bourgain, Mordell type exponential sum estimates in fields of prime order, *C. R. Math. Acad. Sci. Paris*, **339** (2004), 321–325. <https://doi.org/10.1016/j.crma.2004.06.013>
9. V. Pigno, C. Pinner, Twisted monomial Gauss sums modulo prime powers, *Funct. Approx. Comment. Math.*, **51** (2014), 285–301. <https://doi.org/10.7169/facm/2014.51.2.4>
10. H. N. Liu, W. M. Li, On the Fourth Power Mean of Generalized Three-Term Exponential Sums, *J. Math. Res. Appl.*, **37** (2017), 169–182.
11. W. P. Zhang, A special three-term exponential sums and its fourth power mean, *Sci. Sin. Math.*, **54** (2024), 1455–1466. <https://doi.org/10.1360/SSM-2022-0232>
12. T. Cochrane, Z. Y. Zheng, Pure and mixed exponential sums, *Acta Arith.*, **91** (1999), 249–278. <https://doi.org/10.4064/AA-91-3-249-278>
13. X. G. Liu, Y. Y. Meng, On the k -th power mean of one kind generalized cubic Gauss sums, *AIMS Math.*, **8** (2023), 21463–21471. <https://doi.org/10.3934/math.20231093>
14. E. D. Akarsu, J. Marklof, The value distribution of incomplete Gauss sums, *Mathematika*, **59** (2013), 381–398. <https://doi.org/10.1112/S0025579312001179>
15. W. P. Zhang, D. Han, On the sixth power mean of the two-term exponential sums, *J. Number Theory*, **136** (2014), 403–413. <https://doi.org/10.1016/j.jnt.2013.10.022>
16. Y. Y. Liu, W. P. Zhang, The linear recurrence formula of the hybrid power mean involving the cubic Gauss sums and two-term exponential sums, *J. Shaanxi Normal Univ. Nat. Sci. Ed.*, **45** (2017), 14–17.
17. I. Shparlinski, Bilinear sums of Gauss sums, *Acta Arith.*, **202** (2022), 379–388. <https://doi.org/10.4064/aa210523-3-2>
18. T. M. Apostol, *Introduction to Analytic Number Theory*, Springer-Verlag, New York, 1976. <https://doi.org/10.1007/978-1-4757-5579-4>
19. N. M. Katz, *Gauss sums, Kloosterman sums, and monodromy groups*, Princeton university press, Princeton, 1988.
20. W. P. Zhang, H. L. Li, *Elementary Number Theory*, Shaanxi Normal University Press, Xi'an, 2013.



AIMS Press

© 2025 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (<https://creativecommons.org/licenses/by/4.0>)